gonal cross lines on the remaining blank pages.

Important Note : 1. On completing your answers, compulsorily draw dia,

50, will be treated as malpractice.

> appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification.

USN

Time: 3 hrs. o 4 Max. Marks: 80

Note: Answer any FIVE full questions, choosmg ONE Sfull questton from each module.

o

used to provide multimedia
communication service. , (08 Marks)
Explain the commumcatlonxm des avallable to transfer the information stream. (08 Marks)

'a P OR :
Determine the propagauon delay associated with the followmg communication channels.
i) A connection through a private telephone network of 1km
i) A connection through a PSTN of 200kmi,
iii) A connection over a satellite channel of 50,000km

AAAAA

assume that the velocity of propagatlon ‘of a signal in case of i) and ii) is 2x10°ms™" and in
~1

case iii) 3'%210°ms 7. (06 Marks)

Explain the QoS parameter assoc1ated w1th a packet- sw1tched network. (06 Marks)

Discuss: any one entertainment ap ication of multlmedza (04 Marks)
Module-2

[llustrate the different types of text data representation. (66 Marks)

Calculate the time to transmit the followmg dlgmmed lmages at both 64kbps and 1.5mbps.
i) A 640 x 480 x 8 VGA — compatible i image <>
i) A 1024 x 768 x 24 SVGA — compatible i image. (06 Marks)
The band width. of speech signal is from 50Hz through to '“'1 OKHZ and that of a music signal
is from 15Hz through to 20KHz..Ce ufnpute the bit rate that is generated by the digitization
procedure by‘assuming the Nyqulst ‘sampling rate of 12 bits per sample for speech signal and
16 b1ts per sample for the mu51c s1gnal L m (04 Marks)

B, ¢ OR~
Assuming the CD-DA’ standard is being used, compute the time to transmit a 30 second
portion of the title using a transmission channel of bit rate : i) 64 kbps ii) 1.5 Mbps.
(04 Marks)
With the aid of block diagram explam PCM signal encoding and decoding principle.
(08 Marks)

Why is the chrommance 51gnal transmltted in the form of two color different signals?
Identify the oolor dlfference 51gnals associated with the NTSC and PAL systems. (04 Marks)

« Module-3
A message and its probablhty of occurrence of each character is of follows :

Aand B=0.25,Cand D =0.14,E, F, G and H = 0.055.

i) Find the minirqum average number of bits per character using Shannon’s formula.

i) Construct Huffman code tree and derive a code word set. (08 Marks)
Define distributed multimedia system with neat block schematic and also highlight its

features' iy (08 Marks)
o 1 of2




10

15EC741

; OR : :
Discuss multimedia operating system with res to CPU management, memory
management, I/O management and file system management. : (08 Marks)
With the aid of neat block diagram explain JPEG encdder. (08 Marks)

} ode modula’tlor; with neat block diagram.

X (08 Marks)

Using block diagram explain h-261 video—encoder pr1n01p1e : (08 Marks)
OR

tive coding with neat block schematic. (08 Marks)

ompressed using th MPEG — 1 standard. Assuming a frame
sequence of : IBBPBBPBBPBBI %
And average compression ration of 10 : 1(1), 20 : 1‘(P) and 50 : 1(B), derive the average bit
rate that is generated by the encoder for both: NTSC and PAL digitization formats. (08 Marks)

Moduleis"\

Q»streammg architecture with neat block diagram. (08 Marks)

Discuss the- protocol stacks for medla strummmg usmg\block diagram. (08 Marks)

OR

R(D) model.
Explain the different mstances that may cause the end to-end delays in ATM network.
(08 Marks)

(08 Marks)
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